N = 0l & At & Ml A

20188 = =0l & LB H JIEISESH SR ~ FESA L

SN B2
Bu: 2y siiael
R HE MdAHARS 28 EH =H| (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
=271 55,965,998 48,119,438 7,846,560
= 832,284
Al 730,740
- 54,402,974
=28 HdHz2el 2,501,949 111,074 2,390,875
Al 25,829
- 2,476,120
HAE HAHARS 2E S =H| 2,501,949 111,074 2,390,875
Al 25,829
- 2,476,120
HE {22l F 2,424 462 92,622 2,331,840
308 MXISHMSOIA 2,424 462 92,622 2,331,840
11 J|EIR Y= 2,424 462 92,622 2,331,840
1. 73 E=2SAXESAH FAEHH|
2,424 462,000 2,424 462
HEEAHANRAE 77,487 18,452 59,035
Al 25,829
- 51,658
101 @121 | 17,324 0 17,324
Al 5,775
- 11,549
04 JI2ZtHIZ22NEE S 17,324 0 17,324
(HI73 BZ2SAXNEEH dLEX ol2al) 17,324
1.7 66,6302 x 1«30 1,999
Al 667
- 1,332
2. = 66,6302 x1H*10L +23) = 15,325
Al 5,108
- 10,217
201 et d| 58,163 16,612 41,551
Al 19,388
- 38,775
01 AFR 2t 2| bl 49,313 16,612 32,701
(LBt=2H|) 31,113
1T ENENEA 22X =5 80,000& 30" 2,400
Al 800
- 1,600
2ANET MNEA 22K =G
80,000& x10Y x2 1,600
Al 534
- 1,066
3.2 EE AL M & 30,000 *23 = 690
Al 230
- 460
4 42 A ol 2,457,000 =14l 2,457
Al 819




SN B2
Bu: 2y siiael
Ce: HE dAHAR 288 = (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
- 1,638
5. LBIAIREE 2! 20,016
IHEH & RLU(R) 600, 0003 *34! 1,800
Al 600
- 1,200
LH.EYH & FE(s) 600,000 23l = 13,800
Al 4,600
- 9,200
.ol e 4eX(s)
24 000 88+ A %230l = 4,416
Al 1,472
- 2,944
6.5 HEE0NH 5 =28 &9 3,950
.7 BAF g8 150,000& *1& 150
Al 50
- 100
L. 72 EAF &2t Y 60,000& x2& 120
Al 40
- 80
Ch.s 2 a9 100,000& *230 = 2,300
Al 767
- 1,533
ct.s EAF 28y 60,000 234 = 1,380
Al 460
- 920
(Z22Hl) 18,200
1.7 8HAEIZIZX 8,000& x10Y¥ 40 3,200
Al 1,066
- 2,134
2. A2 S 8,000 *5H x15L %23 = 13,800
Al 4,600
- 9,200
S.EME(MEZE) ALEHA 22T}
,000& *30H «54! 1,200
Al 400
- 800
02 B232%H| 8,850 0 8,850
1 HAEEAMNDA RES(HSESKH fu2 ¥
gh) 4 5002 =x1,8000H 8,100
Al 2,700
- 5,400
2. Xkt 250,000& *3CH 750
Al 250
- 500
203 &R F&d| 2,000 0 2,000
Al 666
- 1,334
03 AIZH =& 25 X H| 2,000 0 2,000




SN B2
M. =F dAH 2
el BE MR s Ey| (ol @)
DA HB B (EH) - MBAY - BAS o A o SSa H RS2
1.8HYER */sx=A 2,000,000& 2,000
Al 666
- 1,334
gy A A3 4,410,033 3,462,464
Al 58,961
- 4,351,072
s HFXA 858,701 801,841
Al 58,961
- 799,740
d29 XN 131,720 125,667
101 @121 17,350 14,597 2,
04 JI2ZtH22XNHEE =+ 17,350 14,597 2,
1.2 H Y o182 60,240& *48H *63] 17,350
201 LEt2 Y| 13,370 10,470 2,
01 A2 22| bl 13,370 10,470 2,
(eeta=2H|) 13,370
1.2PAFIH M &= 90, 000& *3H *x23] 540
2.4% Y EFE 550
Jb.EX 4,500& = 1000H 450
LE.LHXI 1,000& *1000H 100
EHEY 270,000& *2JH =2 CH 1,080
4. 2Z5H2E A oI 8,000 x50 F 33| 1,200
5. FJt249 JI2D] 9,500
Jh.=IJIHE 6,000& *600H4 3,600
L. =l 4,000 *200H4 800
CH.ot221201 &l 17,000 *300H 5,100
6.8l (M =3 Q) 50,000& *103] 500
203 &R =&H| 95,000 95,000
03 Al F=X SR =AH| 95,000 95,000
1. 28T ANHGRFX 40,000,000& 40,000
2AHFZREO JES 10,000,000& 10,000
.24y HRFA 30,000,000& 30,000
4 MY HRE MG 10,000,000& 10,000
5 HEXNIER 5,000,000& 5,000
301 dEtEAZ 4,000 3,600
11 JIEtE2 A= 4,000 3,600
1.8 R0 EE 100, 000& x 10 x4 3] 4,000
303 ZAZ 2,000 2,000
01 ZAZ 2,000 2,000
1.2 L AMFE SS32F FIEFH
00,000& *10H 23] 2,000




2N B2
Ha: Mgy A9y 2
ool BB HHT

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ANl 2= 102,800 82,800 20,000
301 LBt A= 102,800 82,800 20,000
04 AiIsHHMHAH XS 102,800 82,800 20,000
1. AAsSe8ll 29| 300,000 234 CH*x12& 82,800
2. AS2E 22l 20,000,000& = 14! 20,000
SEWHZ 4 K& 196,537 197,460 AN 923
Al 58,961
3 137,576
403 XX EHH S R20| & 196,537 197,460 AN 923
Al 58,961
3 137,576
3 oblZs4dXeNEsExX 196,537 197,460 AN 923
1.2 E4A& 196,537,000 =14l 196,537
Al 58,961
- 137,576
s XA 41,880 6,080 35,800
201 Bt 11,880 1,080 10,800
01 AP 22| H| 11,880 1,080 10,800
(94x2) 11,880
1 SSEEUAXNIEEEAMETH A
90,000 x 120 = 1,080
2.=22s UZ2sd LdUHEA 2XE
450,000 «12& 5,400
3.222S MUl 2SO LUHEAN H e
2 400,000 400
4222 HIZ2S0 &F A 5,000,000& 5,000
301 et A= 10,000 5,000 5,000
09 HAIAHI EAZ 10,000 5,000 5,000
1. E8ee & o8 A35 N 5,000,000& 5,000
2.0lHl =2 otE2AS 5,000,000& 5,000
406 JIEFRI 20| & 20,000 0 20,000
01 JIEHAFE201 A 20,000 0 20,000
1.2 Hl2sU QUHEA B2
20,000,000 20,000
285 JIES 22 73,864 71,114 2,750
201 et2 Y| 23,864 21,114 2,750
01 AP 2t 2] H| 1,864 1,864 0
(2944 1,864
1.JI22BIM0E 8 BAsT
70,000 2H x23| 280
2.2AK10 EBAHAAS 132,000 123 1,584
02 B32%H| 22,000 19,250 2,750
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SN B2
B Y Ay U
Sl X SEHY CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
L.+ 300,000& x2€& 600
Ct. &8 200,000& »2&! 400
el dATA AS L ZotEY 195,000 167,000 28,000
202 O B 195,000 167,000 28,000
04 =Ml st B 195,000 167,000 28,000
1.0 &&X AE 2,000,000& x15H x23] 60,000
2.0 =23t 1,500,000 x25H x23] 75,000
.ol g4 2,000,000& x4 x5 40,000
4. ZAAR2HUE ol 2 H4Hl
5,000,000& x4H 20,000
A =X akat 2,278,937 1,535,477 743,460
M =M= X 2,031,937 1,500,477 531,460
101 @ 21| 88,737 76,277 12,460
04 JI2ZtH2E2XNEE S 88,737 76,277 12,460
1. 72AWHAY HAA 16,465
.ol22 60,2403 »1H+x212 x 102 12,651
Lh.Z=82¢ 60,2403 1 x45L 2,711
Ch.AXt=< 60,2402 x1H 10! 603
ch. AL el 50,000& =10 500
2. FUAY Z2lAt 16,265
o222 60,2403 x1H»21d « 108 12,651
L.z 60,240& 1Y %45 2,711
Ch.AX =S 60,2403 x1H *10 603
. AU XRCIAISE 30,000& x10& 300
3.7UAY BESoR 47,893
rolEa2 60,2403 *3H*x21 x 102 37,952
Lh.=52Y 60,2403 3% x45 8,133
Ch.AX=& 60,240 *3H 10 1,808
4L ANEEY BEE 8,114
.m0 HAdEE =S 80,623,000& *3.06% 2,468
L. L&) @AsBE = 2,468,000 *6.55% 162
Ct.=009=288 & 80,623,000& *4.5% 3,629
. 1828 s 80,623,000 *1.5% 1,210
O ATHEE 2 80,623,000& *0.8% 645
201 LEt2 Y| 1,939,700 1,424,200 515,500
04 S =KIH T Al S A b 1,939,700 1,399,200 540,500
1. YSEEXNMEAIE B Y 1,939,700
S22 A  3E S 1,699,200,000& 1,699,200
L. S H%A S 1,200,000& x190H 228,000
Ct.&4t=s061 Lo E 500,000& *254H 12,500
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MEXNRE & 29 252,247 238,930 13,317
Edotl] a8H2 SFE WEEHY 252,247 238,930 13,317
SHE HEZH 252,247 238,930 13,317
201 Let24E] 244,747 233,330 11,417
01 At 22l 94,630 107,110 212,480
(der2=EHl) 31,590
1.2 423 N Al 2,000&*x105+15% 300
2.2 4AM 50,000& 1005 5,000
. BUNERNAR 32,000 1008 3,200
4. 2 H A AN 5,500& x100% 550
5. A2 HUCEH O3
20,000 16024 3,200
6.=23 MXEHD cte 250& x20, 0004 5,000
7.EHOL™HI 22 110,000 *4 4 440
B.ANEZYN BHE A2F 60,000&*5F+43] 1,200
9.HIItH& =22 EH™eldl 200,000& »23| 400
10.28s3HALdE+=2 200,000& *43] 800
11.Z24ZIME 2 5,000 x4 »202! 400
2. M2HE SUAAHAMN BE
10,000, 000& * 14! 10,000
13.2HE ==& 150, 000& *4 3] 600
14. 3 A=W HMZ b 500,000& 500
(=&l) 800
1. 24P FA 8,000& »4H »x25 800
(2e+¢) 11,200
1. 2484TAMAE =Y 100,000& x4 H 20 8,000
2. A RARJ AA=E 100,000 9H 33| 2,700
3 HARNE ZULA =Y
500,000& *13] 500
(dxrz) 51,040
1. BXS A Xt 51,040,000& 51,040
02 2324l 150,117 126,220 23,897
1. 2018& Z A&l Hl 147,957
Jb.THoH = S HAHS 2l HI 34,851,000& 34,851
L. & ot B & S HIAHR 2 Bl 113,106, 000& 113,106
2. 222 &l RAE=Hl 180,000& = 12& 2,160
203 Y2 X 4| 3,000 3,000 0
03 A Z=AH S =AY 3,000 3,000 0
THEESE R4 3,000,000& 3,000
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2M: MR
I WEAE & 24
Sl SYED EENO TIEH MITY CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
301 €EtE &= 1,200 1,600 A 400
MIEtE2d= 1,200 1,600 A 400
1. 248 AH & 0] 20,0003 x»4H 15 1,200
307 glztol & 800 0 800
12 QI E W = H| 800 0 800
128 ARE WS 200,000& x4 800
401 AIEHIZ 2 THYI 2,500 1,000 1,500
03 Al€ 2 0 Bl 2,500 1,000 1,500
1.F:2UF0I=E 20,0003 250 A x5 2,500
ANE2E 2,894,928 1,054, 184 1,840,744
X 1,500,000
- 1,394,928
A SZe 593,626 575,633 17,993
HEE HFArgtd x4 590,626 572,633 17,993
201 LBt2 S 315,626 330,233 A 14,607
01 At 22l bl 24,950 27,800 A 2,850
(get=3Hl) 24,950
TLEA 2SS e €3 2 wH
1,500, 000& 1,500
23N Y UWEsE £X
45,0003 50 A +33] 123 8,100
3.2+335x A 400
b EEFXE 100,000& =13l 100
L. 2 REE2A2IMRP A 300,000& *13] 300
4. FA 2 450,000& *62 2,700
5.2 FA(EA - IRHZ2ACARL)
800,000& *22] 1,600
6.8MN =ZAMN =2 150,000& =13l 150
TN s HIIEA 2
240,000 »2CH 480
BRARINA A EH2A ST B2
150,000& ~12& 1,800
9.83AM BAESE S 7Y 8,220
o EEH S 300,000& ~12& 3,600
L AYES =0 60,000& =774 4,620
02 s3=9Hl 290,676 302,433 A11,757
(B22SLHA) 272,256
lLusRe 2Es 6,500,000& 1] 6,500
2. 80123 232,800
I EA 19,000,000& *12& 228,000
L. =REE2A2IMR L 300,000& =12& 3,600
Ch o3 FXE 100,000& =122 1,200
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HE - B (3H) - KISAY - BYS il HImEET
.46t AIBE ¥ S0E2RE3 30,720
Jt.E A 2,500,000& x12& 30,000
Lh =R F=RE 60,000& x12& 720
4. 2L OHME 3 120,000& * 13/ 120
5.8¢=288)|=02 &34l 100,000& 12 100
6. =X HAIAE CIHUY M AIB =
34,0003 *23| & «12& 816
7.E¥=XE CCTValE AFE R
100,000& = 12& 1,200
(A8 & Hl s Xdl) 15,820
1.8JIAME28 7Rl 6,660
I EIIAMEFEH (28, HEIE, 84 S)
180,000& = 12& 2,160
L&A +Fay AT 248
4,500,000& 4,500
2.AAEHOH S22 (2HE L)
10,000& » 1764 1,760
3.JIEH AIEE S22 (H2, 822,227
g) 200,000& »12& 2,400
4.FTAIAE SR &2 5,000,000& 5,000
(S12Hl) 2,600
1. HAYED Azt 1,300& 2004 10 2,600
307 21201 A 268,000 242,400 25,600
05 RIZt2IE = 268,000 242,400 25,600
1.EARAEHAAE 29 11,400
Jb. 2 EA 750,000& x12& 9,000
L. =2RHE22AIR A 200,000 122 2,400
2.AYAE FEUHE(FA - S LREE ML
) 650,000 12 7,800
3.5 HHEZUHA 200,000& *2CH*12& 4,800
4. BANELEY 244,000,000 244,000
405 TtHabF S| 7,000 0 7,000
01 AL EFH S 7,000 0 7,000
TAJZFAHA SO0 7 3,500,000 *2CH 7,000
EAMN FXE = 3,000 3,000 0
401 Al HI R 201 I 3,000 3,000 0
01 A& HI 3,000 3,000 0
TLEAUSES=ZSA 3,000,000& 3,000
EArzel 118,200 160,000 A 41,800
A gX2el 69,200 160,000 A 90,800
401 A& HIZ 201 Y] 69,200 160,000 90,800
01 A& 8l 69,200 160,000 90,800
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2M: R

g IMNEY

Helr S FA2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
1.88A ANEE=Z A 60,000,000 =14 60,000
2AMISHESRAME S ZE I (F0 L)
9,200,000 » 14 9,200
SEAN X2 49,000 0 49,000
406 JIEtAH= 01 & 49,000 0 49,000
01 JIEFAI20l A 49,000 0 49,000
1. 2SdE=SNLE SXAEFA A= a2
49,000,000& =14 49,000
SEM AF 1,967,000 0 1,967,000
Xl 1,500,000
T 467,000
Ils=gg(sUls #E¥=SRMH 28) SF44 1,750,000 0 1,750,000
25to & Ay
Xl 1,500,000
- 250,000
401 AIEHI L 2 CHYI 1,750,000 0 1,750,000
Xl 1,500,000
- 250,000
01 A& HI 1,750,000 0 1,750,000
T A& 1,750,000, 000& 14 1,750,000
Xl 1,500,000
T 250,000
sUHs SEA & 70,000 0 70,000
406 JIEtA =01 & 70,000 0 70,000
01 JIEtA =201 A 70,000 0 70,000
1.8Hs HEFEXNHEH LAEFA X2
70,000,000& 70,000
BEE HHSNMH 2524 LAY L AF 147,000 0 147,000
401 AIEHI L 2 0] 147,000 0 147,000
01 A& Bl 147,000 0 147,000
.33 XS Y| 147,000, 000& 14! 147,000
SEHQ X2l 216,102 318,551 A 102,449
HEXES s8H 2 216,102 318,551 A 102,449
201 ¢er24| 196,102 218,551 A22,449
01 At 22l 8,190 10,080 A 1,890
(get+=&Hl) 4,830
LESE(SS28 L HSBYS )
180,000& 73] 1,260
2. 58X HALE ==2  330,000& 23] 660
3.2HE =2 150,000& 73] 1,050
4 AEESANERE 15,000& 20 x12& 360
5052 S#2(0t0IIHA)  750,0009 20K 1,500
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K- B8 S2(3H) - HSAY - B2 o A o SSa H RS2
(Z2&hl) 3,360
1.852283 M8 =AY
7,000& x20 x2H x 122 3,360
02 332494l 187,912 208,471 AN 20,559
(B222LHA) 28,412
1. XS XA 4,690
b &S8R E 200,000& *9CH 1,800
Lt. S8 A& 80,000& =13CH 1,040
Ct.at= X ek 50,000 *31CH 1,550
ch. S 100,000& *3CH 300
2.ASKHEE 15,362
. &8 180,000& *9CH 1,620
Lt . &S8R e 350,000& *13CH 4,550
Ct. 3= ek 254 ,000& =334 8,382
et SR e 270,000& =3CH 810
J.23#ZMERE 2 5,170
b ESEXNE(USH) 60,000& =2CH 120
Lt . SR 100,000& =13CH 1,300
Ct.al = XH & 100,000& *33CH 3,300
ct. S+ 150, 0003 *3CH 450
4. X AAHI(HD] - BE) 55,000& =584 3,190
(A2dl) 121,100
1.58¢= 2,000,000& =7 CH 14,000
2.8% 2,100,000& *51CH 107,100
(AIE ZHI S XIH]) 38,400
1. Al 2 & H|I S XlH| 3,200,000& x12& 38,400
405 XtabF SHI 20,000 100,000 A 80,000
01 AL 2B F SHI 20,000 100,000 A 80,000
1.&5FU48H P 20,000,000& = 1CH 20,000
L AHE U (MR D) 114,378 117,426 N 3,048
23l 63,929 58,239 5,690
A2 AY| 63,929 58,239 5,690
101 @121l 63,929 58,239 5,690
01 24 63,929 58,239 5,690
1.AI2H22+4 63,929
.62 11,0743 *3H x34A| 2t % 12& 13,555
Lh.72 10,0033 x7H *34 Al 2+ x12& 28,569
Ct.8=2 8,980& *3H x34A| 2t x 128 10,992
ct.92 8, 1173 x1H x34A| 2tx12E 3,312
0. 2& & 10,003& *2H *x21 Al 2tx12& 5,042
B X S &HI 61,470,000& *4% 2,459
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2M: R

H: HHE2IZH (W)

e Jl=3l (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
23l 50,449 59,187 AB,738
Jl=23dHl 50,449 59,187 AB,738
201 B2 S 20,396 19,287 1,109
01 At 22l bl 20,001 18,911 1,090
(Yet==gHl) 11,361
1.2A2E =84 200,000& »15& »80% 2,400
2.EH/EHY 200,000& »3CH *32 1,800
3.Z2ZRE EUH/EE  200,000& *45*23 1,600
4. Z2H &M 12,000& 5182 612
S5 3MEAZMYIIRASE 3,509
Jt.50L 1,050& *1500H 122 *80% 1,512
L+. 100L 2,080& *1000H 122 *80% 1,997
6.8 ==JI1 Xt 1,440
I ANRAEIERE 30,000& »12& 360
LEJIHEE =01 X2 30,0003 x12& 360
o238 1E I8z
30,0003 *12& 360
ch MO 2 E=01S R =
30,0003 »123] 360
(S&Hl) 8,640
LegeFdJI=2agl
8,000 15«64 x12& 8,640
02 832gHl 395 376 19
(SS2=<NMAl) 395
.28 395
. &7I 1,960 x105* 128 236
Lb. et 330340 ~12& 159
202 044 26,000 36,000 210,000
01 SLHOYI 26,000 36,000 210,000
THRURHRFAI=0H 26,000,000& 26,000
203 Y=Yl 2,700 2,700 0
04 FAN2SERFAH| 2,700 2,700 0
1L.2A28gR=2| 250,000& »12& »90% 2,700
204 MR =HAH| 1,200 1,200 0
01 MM 1,200 1,200 0
1. AEGHI A A 100,000& =12& 1,200
405 At&tF S HI 163 0 163
01 ML ESFH=H 163 0 163
1.4371 51,0003 *3CH 163
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SH: BN
M Fo M Ho £
SR ISBASE YL (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2 22l Yl 8,800 8,800 0
1TLARES 2 100,000& = 12& 1,200
2. s ¥3YE = EH 250, 0003 44 x23| 2,000
3.E2H EUY 200,000& *3CH *33] 1,800
4IIERHEESILSOEAN 5,000& x100& 500
50 FHASSEMAMDILASUHE
5,000& *x30& x14A 2,100
6.2 AIE X 20,000& *5box*12& 1,200
HAgzg g2 38,816 25,194 13,622
gz gR249 38,816 25,194 13,622
101 @121 18,304 17,182 1,122
04 JI2ZtH2Z2XNHEE 18,304 17,182 1,122
1.8 16,628
.20 60,2403 x2YH »22 x5 13,253
L.z 60, 240& x2H %23 2,772
Ch.AX =S 60,240& x2H x5 603
2.MNEXNRY BEE 1,676
.m0l HLdEE =S 16,628,000 *3.06% 509
L. oI YEE = 509, 000& *6.55% 34
Ct.=00d3288 & 16,628, 000& *4.5% 749
ct.NsSEEa 16,628, 000& *1.5% 250
O MTHEE S 16,628, 000& *0.8% 134
201 LEr2 Y| 20,512 8,012 12,500
01 AFR2t2l bl 20,152 7,652 12,500
(eeta=H|) 20,152
1ARES 7Y 100,000& = 12& 1,200
2.&=9)| E 200, 000& *1box 200
. LS AEMA 150& x4 *4, 10004 2,460
4.3J|1E€882 (ASE 190& #4004 x12& 912
5.Z2eiZely EY 210,000 *1CH x4 24 %2 5] 1,680
6.E8HICIH E 200,000 *2CH *23] 800
7.FAX EUH 200,000& *1CH *23] 400
8.4 EAH Ol A M= 2502 x50, 000 0H 12,500
02 33249l 360 360 0
(B222LHA) 360
1.0{2 R SR ASH 360,000 360
BHSAHY (IR AD) 152,117 174,230 ~22,113
ol 2AHY| 104,957 107,810 A 2,853
ol 2A | 104,957 107,810 N 2,853
101 @124 104,957 107,810 N 2,853
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SH: BN
HaM: HY2HAH (DR
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
01 2 76,294 79,234 N 2,940
1.AI2 2244 76,294
.63 11,0743 x4H «34A| 2tx12& 18,073
Lh.72 10,003& x5 x34A| 2t x12& 20,407
C.82 8,980 x5 H x34A| 2tx12& 18,320
ch.o92 8, 1173 x5 x34A| 2t %128 16,559
OF. X LIHA | 73,359,000& *4% 2,935
03 2IAHAZZXHE = 28,663 28,576 87
(HEE4 HEBXH) 28,663
1.8 26,041
.20 (2s8) 1,360, 170& x1¥ x12& 16,323
(BN 0 = 1,360, 170& = 1Y *240% 3,265
Ct. Y& F0tH| 1,360, 1703 1™ *120% 1,633
ch . HHZAY| 130,000 x 1« 12& 1,560
0. W St 70,000 x1H x12& 840
HE AIZERI 2252
8,766& x150%*10A| 2t x1H « 128 1,578
ISP, 70,128& 12 x 12 842
2ASHEE BEE 2,622
. m0AAEBS = 26,041,000 *3.06% 797
L L3I QYEEE 797 ,000& *6.55% 53
Ch.=20d28282 26,041,000& *4.5% 1,172
. NEEE= 26,041,000& *1.5% 391
O AMHEE = 26,041,000& *0.8% 209
| 2&H| 47,160 66,420 AN 19,260
Jl2343Hl 47,160 66,420 A 19,260
201 LBt A H| 14,720 13,440 1,280
01 At 22l ] 14,720 13,440 1,280
(eta=24|) 3,200
1. 28294 200, 000& *20H *80% 3,200
(Sl) 11,520
1. 92FXI|2=24 |
8,000 x20H 64! 128 11,520
202 04t 28,000 48,000 A 20,000
01 2L Y| 28,000 48,000 A 20,000
1. 0JAE UL RFRI 20| 28,000, 000& 28,000
203 ¥ R =&t 3,240 3,780 N 540
04 ENSI IR =AY 3,240 3,780 N 540
12N 28| 300,000& *12& *90% 3,240
204 & 2 £~ A H| 1,200 1,200 0
01 M ZSLRHAH| 1,200 1,200 0
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= o
A & 0l & AFSE E Al A
2018 & =04k LBHSIH L JIELSESIH SR ~ 2SS4
SN 2HMSD
A BU=TE
Sl RHHUSHSAY N (ol ml)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oM s 3,902,282 4,430,371 A 528,089
Xl 350,000
J| 362,510
Al 285,922
- 2,903,850
Zsto=ds 773,612 690, 747 82,865
Al 132,625
- 640,987
Zst=&sAME N 773,612 690, 747 82,865
Al 132,625
- 640,987
otz AEAMZ 10,250 10,250 0
201 2et24d] 6,250 6,250 0
01 At 22l 6,250 6,250 0
(eeregl) 6.250
1.280l=2sAdXR 28l &Y
250,000& *3CH +33 2,250
2.25tMl=&s &8 Q2 AHl 200,000 203l 4,000
203 YR =&l 4,000 4,000 0
03 A BFXH S =AY 4,000 4,000 0
1.2t s RFLH 4,000,000 4,000
N Zs =M 17,805 15,730 2,075
201 Let24d] 17,805 15,730 2,075
01 At 2teltl 17,805 15,730 2,075
(eeregl) 6,700
1.8%38 S 6,700
. EES 50& *35,000& 1,750
Lb. &0 (ALY 50,000 x84 4 4,200
O.23829 500& *1,500H 750
(=&l) 2,605
1.22t8AMS MXE =4
8,000& *9AI x12H x70% 605
2.ZENSAEE G4l 8,000& 250H 2,000
(2g=¢) 8,500
1.]EM=AAE S He+E 6,000
Jb.o2 70,000& x12F «53| 4,200
Lt =2t 30,0003 x12& #53] 1,800
2IJEARRYS HA&=E 2,500
Jb.o 70,0003 x5H x53] 1,750
Lh. =2 30,0003 x5H «53| 750
2019 AHOH oH SOl & At 15,000 15,000 0
307 21201 A 15,000 15,000 0
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2N
X ZH -
L= B

el

M0 MO MO

SHAl = o
stl=d s
Sol=gsAg X2

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 15,000 15,000 0
1.2019= AiGH GHSEOl & At 15,000, 000& 15,000
=54 ZEUHEE=A 65,000 65,000 0
307 glz2tol & 65,000 65,000 0
04 QIZFHALAIH B = 65,000 65,000 0
.28 Z2UHES=A 65,000,000 65,000
2018 232 Htgaelz2 =M 290,000 280,000 10,000
307 21201 A 290,000 280,000 10,000
04 QIZFHALAIH B & 290,000 280,000 10,000
1.2018 =& dHtgtaclZ =H 290,000,000 290,000
SLIAH2H 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
04 DIZHHALALSE E X 3,000 3,000 0
1.8 3,000,000& 3,000
=¥ 2N 91,457 89,767 1,690
Al 72,625
T 18,832
307 glz2+ol & 91,457 89,767 1,690
Al 72,625
T 18,832
02 QIZtE A AHEE 41,167 41,167 0
1.2t gs2 41,167,000& * 14| 41,167
Al 30,875
- 10,292
03 QIZtHNHE2HHE X 50,290 48,600 1,690
12N ZAHHIXI 34,165,000 14! 34,165
Al 25,625
T 8,540
2. 23t 2HAF 1A Hl XI& 16,125,000 14 16,125
Al 16,125
=22 2HHIXA 18,000 18,000 0
307 21201 A 18,000 18,000 0
03 QI HE2IHE xR 18,000 18,000 0
1.2 2ZH X3 18,000, 000& 18,000
2T Y 2435 4,000 4,000 0
307 gl2tol & 4,000 4,000 0
02 IS AHEE L 4,000 4,000 0
1.2z X 4,000,000& 4,000
L2A20H=sXE 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
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2N
X ZH -
L= B

el

A0 MO HO
ol oo
2
M

5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02 QI AAIE E X 5,000 5,000 0
1. 40720 =2=sXd 5,000,000 5,000
SIJIEHAY & Bt (AE) ZEHE A 20,000 25,000 A5,000
401 AlEHIZL 2 0HY| 20,000 25,000 25,000
01 Al& H| 20,000 25,000 A5,000
|AJIENY o HEE(ME) ZE2 &3
20,000,000 x 1Al 20,000
2s2dH 23 JIEtAId XM 30,000 0 30,000
401 AlEHIZL 2 0HY| 30,000 0 30,000
01 Al&H| 30,000 0 30,000
1.222dH9 S3)|ptX48H 2
30,000,000 x1A! 30,000
2O 230 U= Hel ArY 112,000 0 112,000
201 Bt 4,000 0 4,000
01 AP 22| H| 4,000 0 4,000
1. ABXIGALE HDAXE 400,000 x10& 4,000
401 AlEHIZL 2 0HY| 108,000 0 108,000
01 Al& H| 108,000 0 108,000
1.2l 24 € IHs 108,000, 000& x 14! 108,000
=2 d A X 5,000 0 5,000
307 212t0| & 5,000 0 5,000
02 QI2tAAMAIE E X 5,000 0 5,000
1.UHFPHE LGS M K& 5,000,000& =14l 5,000
23 HotHZ &9 12,100 0 12,100
201 gEt24d| 6,000 0 6,000
03 A2 G HI 6,000 0 6,000
1. 238 0tH2I =29 6,000,000 * 14! 6,000
401 AlEHIZL £ 0HY| 6,100 0 6,100
01 Al&H| 6,100 0 6,100
1. 23HI0FHC KA 6,100
bEDI82 700,000& 34! 2,100
L. xE382 2,000,000& *23| 4,000
20188 ZHE HIAEY =D} 20,000 0 20,000
Al 10,000
5 10,000
201 et 9d| 20,000 0 20,000
Al 10,000
- 10,000
03 A2 Y| 20,000 0 20,000
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2N
X ZH -
L= B

el

A0 MO HO
ol oo
2
M

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
1.20188 Z S HAEIZ FOt 20,000,000& 20,000
Al 10,000
- 10,000
EA SLZ2H dAIE2 23 5,000 0 5,000
201 Let2d] 5,000 0 5,000
01 At 22l 5,000 0 5,000
1.2AL SLZ2H dAIS2 299
5,000,000 » 14l 5,000
S¥gZ FHel2g 50,000 0 50,000
Al 50,000
201 L4l 50,000 0 50,000
Al 50,000
03 A2 I 50,000 0 50,000
1.5¢42 SsHel2dg 50,000,000& =14 50,000
Al 50,000
HEZAUEBE L S 8,000 8,000 0
Z3HES L 8SKE 8,000 8,000 0
ST UEtALY 2435t 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
02 It M AMHEE 8,000 8,000 0
.S WALl X3 (200 2) 8,000,000 8,000
HEHE |4 2,994,317 3,635,875 A 641,558
Xl 350,000
J| 362,510
Al 153,297
- 2,128,510
MeHsl 22 XA 984,204 951,704 32,500
J| 362,510
Al 153,297
- 468,397
AEXQIEAHAY 261,792 261,792 0
J| 183,254
Al 39,269
- 39,269
301 et a = 261,792 261,792 0
J| 183,254
Al 39,269
T 39,269
01 MEIBEE 253 261,792 261,792 0
TAZZLHOISEAMS 261,792,000 » 14! 261,792
J| 183,254
Al 39,269
- 39,269
LM E XS X S X HH X 179,256 179,256 0
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 89,628
Al 44,814
2 44,814
307 i+l & 179,256 179,256 0
J| 89,628
Al 44,814
2 44,814
02 IZtE M AMHEE 179,256 179,256 0
.Yt el
2,134,000 x7H «x12& 179,256
J| 89,628
Al 44,814
2 44,814
HEAMEXNSXE X b X 179,256 179,256 0
J| 89,628
Al 44,814
2 44,814
307 glz2tol & 179,256 179,256 0
Il 89,628
Al 44,814
2 44,814
02 LIt MAHEE 179,256 179,256 0
T.OHZ2MMEN SN A 2]
2,134,000 x7H x12& 179,256
J| 89,628
Al 44,814
2 44,814
the AXL=28 29 82,000 82,000 0
307 glz2tol & 82,000 82,000 0
05 RIZIRIE& 3 82,000 82,000 0
1.2 AX=2Yg 22 82,000,000 » 14 82,000
MENSNENEBSEX 16,800 16,800 0
Al 8,400
T 8,400
307 glz2+ol & 16,800 16,800 0
Al 8,400
T 8,400
02 YAFHAANHFEE 16,800 16,800 0
THENSXNEA wESH 100,000&x14H«123 16,800
Al 8,400
- 8,400
MEHsZz0Y 8,000 8,000 0
Al 4,000
- 4,000
307 21201 A 8,000 8,000 0
Al 4,000
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25 28MSs I
M MENYE 24

e MEHSEY B3 & (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
- 4,000
02 QIZFA AAIE E X 8,000 8,000 0
1.AQQHESMEREZTZ I 2,500,000 x14! 2,500
Al 1,250
- 1,250
2.2 MENETZ ) H 5,500
I &E+MsUHEd 2,500,000 =14l 2,500
Al 1,250
- 1,250
L MEH s E 3,000,000 =14l 3,000
Al 1,500
- 1,500
A2 MESAEHSE 20,000 20,000 0
307 2Iz2to| A 20,000 20,000 0
04 SIZ2ISHAAISH E & 20,000 20,000 0
1.OHRAL. 2N ESLH LS 20,000,000 20,000
2AIC MEXHNsUHEZENE S8 15,000 15,000 0
307 2izto| A 15,000 15,000 0
02 QIZFA AAIE E X 15,000 15,000 0
1.U2AIL MEHSUHESE S8XH
15,000,000 15,000
2Al HEYN MESHsUE sdXS 4,000 4,000 0
307 2Iz2to| A 4,000 4,000 0
02 QIZFAAAIE E X 4,000 4,000 0
1. UZ2AHEA MEHsUHs 8K
4,000,000& 4,000
Al EUE MeEdsls s8I 3,000 3,000 0
307 2I2t0| & 3,000 3,000 0
02 DI AAIE E X 3,000 3,000 0
1.072A HEME MEMsdis S8R
3,000,000& 3,000
=2 L HRAIHED MEMEUE =28XE 3,000 2,000 1,000
307 QI2t0| ™ 3,000 2,000 1,000
02 DIZHEAAIE E X 3,000 2,000 1,000
1.HFRAIED| MEH=UE sSHXNS
3,000,000& 3,000
FEHEU MESAHSUHS 56,000 56,000 0
307 QI2t0| ™ 56,000 56,000 0
04 CIZ2HSHALALS B X 56,000 56,000 0
1. 2EIUHMEA S 56,000,000 56,000
REZEE HAYE MESHEUHE 15,000 15,000 0
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2N
X ZH -
L= B

el

Z M = ot
HEHNE |4
MEHSHU 25 X

SN SAGEA) - MRALY - BES 0l &k o4 il HImEET
307 glz2tol & 15,000 15,000 0
04 DI2HHALALSE E X 15,000 15,000 0

L.REEH F4AE MEMSOUSE 15,000,000 15,000

SHAAE OtetE 3 35,000 35,000 0
307 eIzl & 35,000 35,000 0
04 QIZFHALAIH E = 35,000 35,000 0

1.257AE Ot2tEU S 35,000,000& 35,000

H=3ZI d&dsU 4,500 4,500 0
307 glztol & 4,500 4,500 0
04 QIZFHALAIH B = 4,500 4,500 0

THSEI HEXHsHE 4,500,000& 4,500

galg &) MUz XN 5,600 5,600 0
307 21201 A 5,600 5,600 0
04 DIZHHALALSE E X 5,600 5,600 0

1.833 &) H4ExsHa XN& 5,600,000 5,600
=SERMsE 23 36,000 35,500 500
Al 12,000
- 24,000
307 glz2tol & 36,000 35,500 500
Al 12,000
- 24,000
03 BIAHNHE2IHIEL 36,000 35,500 500
1.=272H=s328X2 36,000
b AR=E 21| 24,000,000& »1H 24,000
Al 12,000
T 12,000
L. 2tel 2l 12,000,000 * 14! 12,000

MEHFQIO B A 4,000 4,000 0
307 glz2+ol & 4,000 4,000 0
04 QIZFHALAIH E = 4,000 4,000 0

1TSS A 4,000,000 4,000

Ss MEH=s2 WX 10,000 10,000 0
307 21201 A 10,000 10,000 0
02 (It HAMAEE 10,000 10,000 0

.83 dEx=scd sdXE
10,000, 0003 * 14! 10,000

MEXNSXANEX HLHA 16,000 15,000 1,000
307 glztol & 16,000 15,000 1,000
03 BIAHMEE2HHIES 16,000 15,000 1,000




fAM: 2=
B MEIS sS4
e daHssl 25 A (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
TLHEMSAET 16,000, 0002 14! 16,000
=SRHss #g4dst X2 30,000 0 30,000
402 RIZEX201 A 30,000 0 30,000
01 2IZEH 2 A B (KM TH &) 30,000 0 30,000
1.89%28 g2y 30,000,000 =1CH 30,000
MEBUSAS X L 2l 1,509,046 1,967,338 458,292
Xl 350,000
- 1,159,046
SUXSsAA2e 37,394 30,116 7,278
201 L2l 31,554 24,916 6,638
01 At 22l 3,054 2,896 158
(gurag) 2,190
1. 832800072 300& =1,5000H 450
2.BZ2MHSAE E2AEESEY
7,000&*x7E*10% 490
3.B3MEALE SEA AR2EFY
3,000& *50& 750
4ZBHSAL OISAL L HHHE 40
50,000& 54 2 *23] 500
(S4l) 864
TLHSAEGN S 80003 x3H <34 «12& 864
02 23224l 28,500 22,020 6,480
(SS22LHA) 28,500
LEUWMSAE HIQS(16MA)
60,0003 x 1604 2 12 11,520
2.2 E 9,840
. HIIReS 570,000& 123 6,840
L. &ot=E23 250,000& 128 3,000
.SUHMSAE dot=ER=2
60,0003 74 A x12E 5,040
4SUHNSANE 2asHasE
50,0003 114 A *23] 1,100
S5 HSAEIxTs coitHa3H HUEE (Xt
leda) 100,000& »10AH 1,000
206 M= Hl 5,840 5,200 640
01 =8l 5,840 5,200 640
(XH=Z=4l) 5,840
1. S==of thdl X+TH 10,000& *40& 400
.23 &A2E A37Y 5,440
. s532F 8,000& x40 1204 & 3,840
L. E3& 8,000 *20 Z « 1004 & 1,600
MEHSAE 84X & E= 410,000 260,000 150,000
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AN 23HSD

MY MEIS R4

oo MEXHSAME €3 & 2l (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
401 AIEBI L 2CHEI 410,000 260,000 150,000
01 A& dl 410,000 260,000 150,000
1.33MsANEE =4 & |RA2e
360,000,000 * 14| 360,000
2.3584K GSHSSH He B
50,000,000& » 14| 50,000
HEHSAE 222 372,647 218,222 154,425
101 124 4] 169,527 89,582 69,945
04 JIZAtNZ22XNSE* 169,527 89,582 69,945
(HUAEY Z4F, 228484 53F 29 oA
Bl &) 145,733
1.80 132,409
rozEs 60,2403 x7E «2502 105,420
L.=5+¢ 60,2408 x7H «52= 21,928
Ch.gAXt==g 60,2403 x7H « 12 5,061
2ANHNEY 282 13,324
. NEEEE 132,409,000& »1.5% 1,987
L. =202 28 132,409,000& *3.06% 4,052
Ct.=CgsSE8a 132,409,000 & 4. 5% 5,959
ch.&4HEE = 132,409,000& *0.8% 1,060
Oh. = EADIQAYEBEE 4,052,000 *6.55% 266
(MEHsAL2e 29 d2AH ) 13,794
1.8 12,531
FrolEs 60,2403 x1H x167L 10,061
Lh.=5+¢ 60,2408 x1H 33 1,988
Ct. Xt ==¢ 60,2403 x 1 +8L 482
2ANENEY 282 1,263
. NEEEE 12,531,000 *1.5% 188
L. =202 28 12,531,000 *3.06% 384
Ct.=ClgsE8a 12,531,000& *4.5% 564
ch.&4HEE =2 12,531,000& *0.8% 101
Oh. = EADIQRAEE R 384,000& *6.55% 26
201 fEt2E | 211,320 128,640 82,680
01 At2 22l bl 153,720 97,440 56,280
(er==8Hl) 163,720
THgHUAY, daRLY 55,320
. get23| 170,000& 122 2,040
L. B==JId X & 40,000 x12& 480
Ct.2X=¢ 110,000& »480H 52,800
2.EHEHEILIAE 42,120
h.get2a| 170,000& ~12& 2,040
Lh. B==JI8 X & 40,000 x12E 480
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AN 23HSD
MM M S SH

ol MEHMSAL 4X L el (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Ch.2 X 110, 000& *360H 39,600
3.FLH LA 55,320
. det2 9| 170,000& = 12& 2,040
L. Al X & 40,000& x12& 480
Ch. 32X 110,000%480H 52,800
4. 2EsERE 480
b EED|YXE 40,000& x12& 480
5. 3¢S asnd® 480
RS Sl RN = 40,000& x12& 480
02 3524l 57,600 31,200 26,400
(2222 2 HA) 57,600
1.HSH LA, A FTAR 19,200
8D, & 222
1,600,000& x12& 19,200
2.EHEHLAE 12,000
I, =k & 838322
1,000,000& x12& 12,000
3.FLHLAHE 16,800
&8I, & 222
1,400,000& x12& 16,800
4 2EsHERE 4,800
&I, 5 3322 400,000&*12& 4,800
5. 3¢4sdHI Az & 4,800
I EI, =& 5 3322 400,000&*12& 4,800
405 XtabF S| 1,800 0 1,800
01 A&t =S F SHI 1,800 0 1,800
(X 2 2 EFSH|) 1,800
1T EHEHELAE 1,800
b H e D] 1,800,000& * 14 1,800
HUAR ZA4% 228 DADIE AL X2 21,005 11,000 10,005
201 Bt H | 21,005 11,000 10,005
02 352494l 21,005 11,000 10,005
1HSHILIAZ AIE S| 5,000
Il 2SH22(0IME , ASFLYUS)
400,000& *53| 2,000
L. UWE WX 100, 000& *6H x4 3] 2,400
CH.20BI(Z=Y, 2t , Bei4E 2YS)
600, 0003 *14] 600
2.EHNHEILIAZ A& S X HI 2,600
I WE WA 100,000& *5H x4 3] 2,000
U 2BHHI(ZY, 7FAIRYS) 600, 0003 *14] 600
3.ALHUAE AR X ] 3,000

_44_




AN 23HSD

MY MEIS R4

ool MENSASL 84X L el (ol @)
4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
JbUEDH 100,000 6% x4 3| 2,400
LE.2UHI(Z2E, AR S) 600,000 <14 600
4 AAZAE A&7 1,000
b OS2 WA 100, 000& 22 x53] 1,000
5.2E2SUEFE AMERAH 2,000
Jb. =Y WA 100,000 4% x53] 2,000
6. 3T HIMIAS TR AR 7,405
Jb.EXAUEI RUHESR)
1,250 *300L*1CH 375
LE.Ol =D SRUH(HELR) 1,450 «350L*4CH 2,030
Ct. & HAXL] 24| 5,000,000& =14l 5,000
HL A2 XI& 18,000 18,000 0
307 gl2tol & 18,000 18,000 0
04 DIZHHALALSE E X 18,000 18,000 0
TLHILIATHS XI& 18,000, 000& 18,000
HYHLUAE SU3ALS 270,000 0 270,000
401 Al HI & 28I 270,000 0 270,000
01 A& HI 268,000 0 268,000
THSHLAZ SHUHSAIY 268,000,000 * 14! 268,000
03 Al 20 HI 2,000 0 2,000
1THHLAY SEUSIAIY A&
2,000,000& 2,000
StNsdTEY 350,000 0 350,000
Xl 350,000
308 AXIEHH S0l 350,000 0 350,000
Xl 350,000
08 WKII20HstE X 350,000 0 350,000
1.88u2sd =4 350,000,000& *17H £ 350,000
Xl 350,000
HE HBHECSIEZ HHEOHX S At 30,000 0 30,000
401 AIEHIZ 28I 30,000 0 30,000
1 A&l 30,000 0 30,000
T.HEHELUEH HIS HIH SAt
30,000,000& =14 30,000
AUERI 501,067 716,833 A 215,766
S2E2Y 501,067 716,833 A 215,766
201 et 4,000 13,400 A 9,400
01 At 22l 1,000 11,000 210,000
1.E2E =4 =8l 1,000, 000& 1 1,000
02 3322l 3,000 2,400 600
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2N

X{ XH -
S =

= =
cHel: 29 ?EA)
HH .ol (AH) - NSAY - By il 2
1.828 =4 2l 250,000& 12 3,000
AuE A3 497,067 471,433 25,634
=t - 2SFS243 497,067 471,433 25,634
.20 240,541
PSR (62172 8) 3,241,400 x1H +128 38,897
L. (721383) 2,672, 1003 x6H 123 192,392
. d<H4H 231,289,000%4% 9,252
2.5 2,160
Ot BH <At 40,0003 x3H 128 1,440
Lt. DI EF 20,0003 x3H » 128 720
3.82+¢ 231,289,000& *1/12 19,275
4. BEFOHYI 231,289,000& *1.2/12 23,129
5. 284 200,000& x7H 128 16,800
6. NS ==Y 250,000 x 18 128 3,000
7.5 4| 220,000& x7H 128 18,480
8.2 &HHI(ZEAl) 35,700
Jb. Al 25,0003 «7Hx152 128 31,500
Lt & AH| 50,000 x7H 123 4,200
9.8 XI&&l 21,385
b dEt=d 65,0003 *7H 103 *32 *90% 12,285
L EIHA 65,000 x7H » 13| «20 9,100
10. CH&l & Dthl 45,990
b= s 70,000 *7H x102] 8 x90% 35,280
L. 2 HCHEl 1,700,000 +7H »12] *x90% 10,710
11. 8303 Y & = 450,000 7Y x43] 12,600
RE48EBHZ(AH2) 6,000
b1 300,000& »12& 3,600
Lt.2% 200,000& x12& 2,400
13. el & HI 7 & 750,000& +7H *23| 10,500
4. 0E2EE 323,385,000& *1.5% 4,851
5. 30z 8E8& 323,385,000& *4 . 5% 14,553
16.320A2dEE 2 323,385,000& *3.06% 9,896
7.2 FIQABE= 9,896,000& *6.55% 649
18.ATHEEZ 323,385,000& *1. 1% 3,558
19. 82422 HAUZH| 2,000,000& »14! 2,000
20.2J)H(FAEUE ¢ 6,000
b =0t E 300,000x1H x12& 3,600
Lt. &dl = 200,000& x 18 =128 2,400
HH2LAZH (2SS ) 126,353 95,749 30,604
ole) 2 ot 68,063 49,279 18,784
ol 2A| 68,063 49,279 18,784
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2AM: 2=
H: HM2AHH (2}ASH)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
101 @121l 68,063 49,279 18,784
01 2 68,063 49,279 18,784
1.AI2 2245 68,063
.63 11,0743 x4H »34 Al 2+ x12& 18,073
Lh.72 10,003& *4H x34A| 2t %128 16,325
72 (23 Y HASLE)
10,0033 5 *34 Al 2+ 12& 20,407
ct.8=2 8,980& x2H x34A| 2tx12& 7,328
0t.92 8, 1173 x1H x34A| 2t x12& 3,312
Bt . X 2 I & HI 65,445,000& *4% 2,618
Jl2& bl 58,290 46,470 11,820
Jl2&| 58,290 46,470 11,820
201 Yot Y| 13,590 12,690 900
01 AFR2t2ldl 12,216 11,352 864
(eeta=Hl) 4,944
1. 2829 +8H| 200,000& *12H *80% 1,920
2.5RHAEN & 7,200 *x315 224
3.2etZely EY 1,400,000& 27 2,800
(Z&4l) 6,912
102 Rz A |
8,000 x12H 64! x 128 6,912
(LX2) 360
1. 804X 2 30,000& x 10 =12& 360
02 33249l 1,374 1,338 36
(2222 %2 HA) 1,374
1.8 330 *x50E 128 198
2.57| 1,960& 505 *12& 1,176
202 (4] 40,800 28,800 12,000
01 2L Y| 40,800 28,800 12,000
1. 928|120 Y| 20,000& 10 x12H x12& 28,800
2. 9RFXI20U(SS M HASRE)
20,000 10 x5H x 128 12,000
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2N
X ZH -
L= B

el

2SN
UHBE BN
=EENPN-EX-

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
1. 8484 ARF 2,500,000& 2,500
SHOIX2Z 1,568 1,568 0
201 Lt 1,568 1,568 0
01 At 22l 1,568 1,568 0
(er==8Hl) 1,568
1.OHYZMAAEZ 50,000& *2H 100
2.AHOASAHHAANERZ 734,000 2K 1,468
HEISAAEH 2L 227,928 281,850 A 53,922
201 et 216,928 171,850 45,078
02 2324l 216,928 158,494 58,434
(2322 < WAl 14,400
1.&elll2XAEZ 1,200,000& »12& 14,400
(A2 & Hl s X dl) 202,528
1. 2SM4BR2ALE RIE I
160,600, 000& *7% 11,242
2.00IEHHI0I A X224l
108,789,000& *15% 16,319
3.=7Lel0lAIAE RIE=H
18,176,000& *12% 2,182
4. 2LICtAIAE | X 24l
136,213,600 *7%t9, 000, 000 & *7% 10,165
5. 88 AEel Xl #XEal
444 547,980 *7%+17,488,000% x7%+9/12& 32,037
6.AAXNUAAAE S E I
147,990, 000& *7% 10,360
7. SEYHAAAE SN
72,000,000& *12% 8,640
8.ARUUMANY KX E=H
9,278,840 x7%+1,446,600& *12% 824
9 AZEAAHEZAHZAIAE KX E=H
39,000,000& *12% 4,680
10. 32 AAEA AQAX R EHI
25,227 ,000& *7%+5,400,000& *7%+1,850,000& 2,252
*7%*10/12&
M.AHE 28 | E=H|
40,000,000 *7% 2,800
12. 20X ALSFHAAHE R 24
35,500,000 *7% 2,485
13.AATEEHSERHE RN ESH|
23,650,000 *7% 1,656
HIHE =L NER2E RAE=H|
22,170,000 *7% 1,552
15.PCOHQI B E 22| AIAE X E=H]
48,730,000 *7% 3,412
16. 2 otUSBZt 2l Al A B R X2 ==HI
47,063,000 *7% 3,295
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A 3E2SA
M N2FE3 Ity
Chel: HEFBAAE2Y (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
17.0BEZ2HAHAIAE KX 24l
36,980,000 *12%+7,502, 000& *7% 4,963
18.S 82 JAUANAE S22
174,300 128 2,092
19.0/ZHS2AAE S EH
21,950,000 *12% 2,634
20. SR 02CAMAE S EH
98,000,000 *12% 11,760
21 PCHUE HIANAE RAE =
37,000,000& x12% 4,440
2.M2 SME® SXNE=Hl
310,000& »12& 3,720
23.21 2% HUIGHAIAE(IPS) KX E 4
18,700, 000& *7% 1,309
24 NHEZHMAHAIAE X2 =-Hl
50,908,000& *12% 6,109
5. MDA SEAI AN (2 8) S X2 2HI
11,696,427 3 «12%*9/ 122 +30, 268,000 & *7%*9/ 2,642
128
26. NHHOLASHAIAEN (L) S X224l
11,696, 4273 *12%+9/ 122 +32,394, 000 *7% 3,321
27. 2HOIXIAIAE |RXIE==Hl
155,400,000& * 12% 18,648
28. 82850 AU
17,600,000 *7%+26,411,000& 7% 3,081
29.PHHHAZK RK 24|
26,881,000 »7%+28,935,000& *7% 3,908
30.2HO0IX 2&I= Jl=X &4l
20,000,000 » 14! 20,000
405 RHoHF S HI 11,000 110,000 A 99,000
01 AL EZFH S 11,000 110,000 299,000
1.2/ 2 HAZ HOIE 2tol2del 7
11,000, 000& 14! 11,000
ANXEH S8 ==Fd DA 38,414 49,959 A 11,545
= 8,753
T 29,661
201 ¢4l 38,414 49,959 A 11,545
= 8,753
- 29,661
01 At 22l 38,414 49,959 A 11,545
(dBr=EHl) 38,414
1TLAIZ7 SSIIBHITAIAE 2lAZ
38,414,000 38,414
= 8,753
- 29,661
PSRCDN SR el 252,600 199,425 53,175
SNEHAZH 2 13,800 13,800 0
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2N
X ZH -
L= B

el

0 > ox
HT J8 HT
> 0% o
x H =
ISR =

-

[

£
P
0x

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
23| 13,800 13,800 0
02 =224 H| 13,800 13,800 0
Hl S Xl dl) 13,800
AEHI S K 13,800
2 EH 900, 000 *400CH *3% 10,800
T2l 500, 000& *200CH *3% 3,000
HEZ 126,500 126,500 0
S| 126,500 126,500 0
233 SH 126,500 126,500 0]
H(RLIHE 1,000,000 =100CH 100,000
=] 530,000 *50CH 26,500
A0 22 72,000 23,125 48,875
23| 72,000 23,125 48,875
2l gl 72,000 23,125 48,875
£=24|) 72,000
2ALTE el 72,000
st=2 96,000 *250H 24,000
MS Ol A 225,000 x200H4 45,000
.eldiol = 3,000,000 14 3,000
HoldEB 8 S 40,300 36,000 4,300
23| 38,600 36,000 2,600
2l gl 38,600 36,000 2,600
Z=24|) 38,000
CEZ HioldA ¢
22 ,000& *1,0004 22,000
)= 2 HIolHA Ha el
16,000, 000& = 1Al 16,000
o) 600
oIdEE m A =S
150, 000& *2 Al 2t *x23] 600
1,700 0 1,700
1,700 0 1,700
) 1,700
OIS HElAlE) HOl RLE2A ZAZS 1,700
AR5 500,000 10 & A 500
R 300,000 x20H & A 600
& 200,000 *3H £ A 600
HESANY A A2 1,057,117 817,234 239,883
HESHNEY 29 258,350 343,890 A 85,540
201 LBt | 258,350 343,890 A 85,540
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EX: AEsSA
M NANDE JIHEN
Sl HRSAMHA ST CEEEED
4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 700 700 0
(2944 700
1.OHYENESIAHIA AFE AR OIS £
=3 100,000 +7H 700
02 2324 257,650 343,190 A 85,540
(22222 HAM) 257,650
HIAIEE 125,310
piR-u PSS Eel 7,000,000 ~12& 84,000
L, LBt S} 20,000 x1003) & x12& 24,000
ChASHEEAES 10,0003 *213 d+7& 1,470
ct.g9EsUE 60,000& «10CH x12& 7,200
OF.TRS 40,000& =18CH x12& 8,640
SIHYAIZE 5,700
ot n=s& 75,0002 13| & x12€ 900
LE. XS AHEE & 40,0008 *1038 & x12& 4,800
HESHAES 122,833
I REEBENL (RS - AIHA)
363,726 *333| & «8& 96,024
L.24a38834(T/D)
(23,4852 x293| A x8& )+(23,485% %363 & *1 15,595
2g)
Ch.OlEY M3 & 2,200 x90xH & x12& 2,376
1 Sl B = I (S = =l = B =1
340,450 x 13| & «12& 4,086
OF.PSTN & 3t3| & (ISDN PRI)
132,000 x33| & x12& 4,752
4. HOISTV AIEE 6,600 x42(H x12& 3,327
F. 34853 = 40,000& ~12& 480
HdEEpoTe &= DTG 651,340 375,678 275,662
AFF S H 651,340 375,678 275,662
1 MY EEFSH| 651,340 375,678 275,662
1. 10188 25 502,420
P JI2EEE HEALX 204
66,789,000 *2CH 133,578
S ANY A LBARAX FOH
6,138,000 *29CH 178,002
LHE/A T 22| A AE(NMS) 04
48,400,000 = 14! 48,400
Ot 2 HO0IEROl 200 920,000 «32CH 29,440
Z3H01E 24 D(0TDR) 0K
10,000,000 = 1CH 10,000
S ANEA 2HEARAZX](UPS)
2,500,000& =280CH 70,000
S ANYA SalH 1,000,000 x33CH 33,000
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SM: BREMD
HE: NANBE IBEY
SEAMHIA AU 9 EE)

K- B8 S2(3H) - HSAY - B2 il 2
2. ESE 2022 AIAE 20l 48,670,000 * 14! 48,670
3.BO0FAIAE NEF 45,250
O HEGRY 2hate Wi
45,250,000& 1 45,250
4 QI Gl A A AEL 220l 55,000, 000& 14! 55,000
HESAMAAE 2H 147,427 97,666 49,761
201 et A | 117,427 87,666 29,761
01 AFR2t2l Yl 2,000 2,000 0
(eta=4|) 2,000
1.8 2 2,000,000& x14] 2,000
02 3524t 115,427 85,666 29,761
(Al & HI S Xdl) 115,427
1T.UERIAAE 30,784
Jf . 82 A X| (4CH) 162,121,000 *7% 11,349
LE.LAA IR (4TH) 86,000, 000& *7% 6,020
Ct.L3/L2A QI X (460H ) 179,968, 000& *7% 12,598
oh. 2t E (40H) 11,671,000 *7% 817
2. HOMAIAE 39,971
O . Btshe (50H4) 137,280, 000& *7% 9,610
b & BT Al AE(20H) 61,060,000& *7% 4,275
Ch. 2 S 3h&dI(3400) 249,058,000 *7% 17,435
ch.DDoSTHE &8I (1TH) 52,085,000& *7% 3,646
OFUERAIEZHMAHAIAE (14])
71,500,000& *7% 5,005
3.8 St & AH| 30, 161
Jb. &3t w &Il (VolP HOIEZOl 141)
33,700, 000& *7% 2,359
LH.SAH(20H) 3,000,000& *7% 210
Ch.sAIAE(14]) 31,447,000 *7% 2,202
CH. 2 A AE (146) 20,000, 000& *7% 1,400
OF. & 321 (1,079CH) 338,211,000 *7% 23,675
HH.EFI(14)) 4,500,000 *7% 315
4. ANE2EH B AHS EH 58,500, 000& *7% 4,095
5. 845 &H| 34,603, 000& *7% 2,423
6. GAZOAIAES 15,910, 000& *7% 1,114
7. 222 Al &H| 4,028,000& *7% 282
8.0/ S&€ =& E X &H| 30,000, 000& *7% 2,100
9.82& 5| 14,865,000& *7% 1,041
10. 288 E S &I 37,367,000& *7% 2,616
11. 23 240|100l 11,994,000 *7% 840
401 Al HI L ROl 30,000 10,000 20,000
01 A& HI 30,000 10,000 20,000
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SN BBSAL
HM: A2 Jlgrx A
el MESAAMHA A225 (s )
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
| | 1.2 SAH2AIE FH 30,000,000 30,000
CCTV SAIZA AtEIQtEY n=2Y 2,410,028 2,065,150 344,878
Al 678,500
- 1,731,528
CCTV SS2AMHEH 2E2Y 850,028 795, 150 54,878
201 L2 820,028 765, 150 54,878
01 AL 22l H 9,236 8,736 500
(Let=gH|) 3,796
1.CCTVS S 2N ME 29 3,796
It ORIE ARE 600,000 «3CH 1,800
Lh.EAMARE RO 500,000 23] 1,000
CH.2Ei2eD Al 2 33,0008 *12€ 396
2. 3II1&F)| ZH 300,000 *2CH 600
(2g94+d) 5,440
1.9 - 3| 60,0002 *74 L 4,440
2. AAFBHRINI 2FANE FH 4
100,0002 x5 x23] 1,000
02 322 810,792 756,414 54,378
(2222 ¢ MAD 565,236
1.CCTV SalQz 500,820
b.EEsH 23 (109 %) 387,420
1)M 2ot
55,0002 x2903] 41 » 128 +55, 0002 *903| A * 221,100
62
) A= 55,0002 663 & « 122 43,560
3ofeloles 55,0002 < 1863] &1 x 128 122,760
Lh.E383d Q2 (5EAH) 113,400
1) M 8ot A 80,0002 x230H A *12% 22,080
2)CABH 80,0002 563 & « 122 53,760
DG ET == 80,0002 *363] & « 122 34,560
4)PH-SEF2H ME
250,00020 « 13| M x12% 3,000
2.C0TVEDIR3 64,416
Ob. M EOHA
8,0002 x2707H A 12248, 0002 *90 I A 62 30,240
L. A2 8,000 * 11701 A x 122 11,232
Ch.ojglolEs 8,000%! #2397 A * 122 22,944
(Al & H S XIHI) 245,556
.S Y SRS 109,083
JbERAAE 97,969
1)H/W 1,009,829, 0002 *7% 70,689
2)S/W 247,991,000 *11% 27,280
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2N

HNYE S A

o LS

Ha: NAHLS IR
CH2l: CCTV SAIZ2tH Atglotd et RE2 Y (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
L UHERZ & EetAIAHE
74,243,000 *7% 5,198
Ch.ISaEEAAE 83,086,000 *7% 5,817
ch.2tMIEE LS CCTV 1,650, 000& *6% 99
2.CCTV RANE= 136,473
b ot 324,184,000 *6% 19,452
Lh.oglol2s+4 1,462,700,000& *6% 87,762
Ch.EASE 487,634,000 *6% 29,259
401 AIEHIZ 28I 30,000 30,000 0
01 A& Hl 30,000 30,000 0
1.8 & CCTV ZHIS A 30,000,000& 30,000
A2 SE2H A8y 29 1,330,000 1,200,000 130,000
Al 598,500
- 731,500
201 LB-2E| 1,330,000 1,200,000 130,000
Al 598,500
- 731,500
02 3323l 1,330,000 1,200,000 130,000
1.SEZHMH 2UHE S (DSHEE3A
M3:598,500& A ELE) 33,250,000 x40 1,330,000
Al 598,500
T 731,500
HEOME CCTVR S 150,000 30,000 120,000
401 AIEHIZ 28I 75,000 30,000 45,000
01 A& HI 75,000 30,000 45,000
1.2 HECCTVA X (B AHS A5 S ) (ZH 0 0fl &)
75,000,000& 75,000
405 THobH S| 75,000 0 75,000
01 AL 2 ZFH S| 75,000 0 75,000
T HEZHAH 2L 15,000, 000& »5CH 75,000
CCTVR A EZESHY A=2Y 80,000 0 80,000
Al 80,000
401 Al HI & 28I 80,000 0 80,000
Al 80,000
01 A& HI 80,000 0 80,000
1.8461ES MEOHM CCTVEXIE S8 28 ot d
02 24 (E00laH) 50,000,000& 50,000
Al 50,000
2 HMIE HBR HANY WS CCTVAX(F
O Ol &F) 30,000,000& 30,000
Al 30,000
HE2LAIH(FESAD) 147,186 142,641 4,545
olet 2 | 78,715 77,979 736
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SN ESADY
M. HMSAAH (BEEA)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ol 2A | 78,715 77,979 736
101 @121l 78,715 77,979 736
01 2= 78,715 77,979 736
1AIZIRI2 24 78,715
.62 11,0743 x5H x34 Al 2+« 12& 22,591
L. 72 10,0033 *6H x34A| 2t x12& 24,488
Ct.82 8,980 *6% *34 Al 2+ x 128 21,984
ct.9=2 8, 1173 x2H x34A| 2t %12 6,624
0. XM S IHAHI 75,687,000 *4% 3,028
Jl22Z bl 68,471 64,662 3,809
o122l 68,471 64,662 3,809
201 et A | 14,831 12,882 1,949
01 AFR2t2l Yl 14,720 12,776 1,944
(eeta=Hl) 3,200
1. 2N2HSH| 200,000& *20H *80% 3,200
(Z&k4l) 11,520
1. 32SMUBRE RIS S 4|
8,000 x6A! x20H x 128 11,520
02 332494l 111 106 5
(B222YLHA) 111
1.28= 111
Jb. Bt 330 *x10S+x12& 40
L.s2I 1,960& 35 128 71
202 04| 49,200 46,800 2,400
01 2LHOHI 38,400 36,000 2,400
1. 3ESAMULRFAINI20Y|
20,000& 10 x16H x12& 38,400
02 SN Y| 10,800 10,800 0
1.SAYRFRESEAHI 225,000& x4H x12& 10,800
203 &R =X Y| 3,240 3,780 A540
04 2SI L RF=AH| 3,240 3,780 A 540
1.2N2EYERFAH| 300,000& =122 *90% 3,240
204 &2 = ZF H| 1,200 1,200 0
01 MM R-HAY| 1,200 1,200 0
1. A#HZHRF=AY| 100,000& = 12& 1,200
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